DRDTIND 190 N33 03 YN DN TN TN - NI ITAYN T

37own P ™n
2002 WP
90729 9010 PNy

NI NDH9YN

MNIYVIV NWONY TNDYHNRN NONN
NN PR

NPINIVPIR NOIN INDTIND

1Ny NN

JNYY VN

NYNY 9D Dpen MORY 5 0¥ NDYY ¥ MONY 9 1ONYA
MM 20

DORY 6 TINN 3 IN10 v /N PN
JORYETINN 2PNMO Y /A pin

D997 IN AN AUNNY) XY AUNHN DYRY Y DN 9
13 DMNAVND DIDD LAY N ayny (ON) PN
onnn

013 .29 NPNIAN NN PURIND GTH NN PNRYND W
PN MZNYN MDD X DY TINYa DIV v 1NN
MBTIY NMONVIPTI N YT NPYMAN THYnY TN

DN Y

NN ANNY ¥ YTH TINY ¥R N2V D3 Hnnnb v

NONUD HBON X X DUNY PRSP 0aVN1 PInan
MAN NAND ITINY NN 190N PN .JIONIY

DNIR NYNYN PHN IN DTN 5Y INDION P PIVND W
NP TIYRNY THNY PR

NN PONY POYY PNY 1IN OMP IN NPT 10N TNYTS OX
NN WANNY NPHLM NP0 RN AN YoN3
INen Tunn

NEOYN MDONN MYNY NMNIN NY2NN32 I8 DN
TN NN 9INN PNAN PONY2 NS ) D3V
'ORY YN 190N ,NPYIB VoD PIS) NN NNIANDD

Lan

! Aanbana

1

AP YR N

MW NNOMY ORI AN .2

VI IMD NY DN )

MTRVL NN T



90729

C+- D3NN : /N PN

(1=6 MYNY) MINAN MINYN 6 I TaYa MYNY 3 Yy My

(P 20) 1 Ny

INTEGER NON DONYD XY .C Nava MINN MWOPn 1500 790

SJOPN N INKD X OV W ID P 4) N
x=2,y=4;
do
{
X++;

} .
while {(x+y)%2 != 0);

SJN2WN NN PR
_ $JOPN NN INRD XOU W e Py 4).a
x=5,y=4;
while { == ++y)
{
X==;
}
X++;
JRWN DX Po)
:JOPN NN NN XDV I Y AR (') 4) A
x =7;
do
{
X+=x;

}
while (x<40);

Snawen AN pas
0PN NI MO XYW YYD D) 9 .7
y=8;
for(x=1;:x/y<2;:x++)
y=-;

Jnaen NN po

SOPT NN INND L)X DY O P on (') 4) .0
int 1i=7,3=7;
x = li-j*--1i;

SRR DN PO
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#include <stdio.h>
#include <string.h>

char *func(char s[]);

int main()

{
char str{] = “question2”;
char str1[30];

strepy(strl,str);
strcat(strl,func(str));
printf{“%s\n”, strl);
return 0;

}

char *func(char *s)
{

char tmp;

int n,i,j;

n = strlen(s);
j = (n>0)"n-1:0;
for (i=0;i<=j;i++,)--)
{
tmp = s[i];
s(i] = s[jl;
}S[j] = tmp;

return s,

}

(1P 20) 2 NYNY

:C nowva mown M

1 SIr Tvnh NP TN (PI5) N
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(NP 20} 3 109D NINY

,DONND TIWAI 19001 NN NBYN IINNN ,DNDY DMSON 10 NUMP TUN C++ NIV IMINN IMD
: DYNIN OMATN NN DXHTN NSHIVIVAN NINNA

NI JOPN 0BT NN TN 190N DX (P 5 )
2OV opTeNa ban Naon Y Py 5)

.30-n VPN 0MO5oHRN {P) 5)

VORIV DMOONN YIMND Py 5)

5,1,12,78 65,34 ,12,76 45,23 : 09PN :NOIWT

.1 AR OPN 90N, 78 1INV ITN 90BN (UYY

45,8 84,468,325 ,136,36,152, 45, 0 : OPTOINA DDODD DMOORD
.1,5,12, 12,23 ; 30-p ©MHOPN DMYODN

.35.3 : 9311

(mY1p3 20) 4 000 NNY

N0 N 0NN 30 N2 MDD NY YANVHENN NUNPN C++ NAYA NN 1IN
:MNAD MTYHN YSIN NINNN
DPNPRN ANNINDN DY NAYHD NN MOND ONTMNPR('PY 8) o

SNRID IYTIN OOTH R NIN PR ON ANTINDN INYA 7IPONDH IV MINA INOSTA('PI12) »
(W D2 M NOY IPMIN P wanD ¥ 12D DY)

’my name is yosef” ,”hellc world! ”: VPP :1NOWT

hello world! my name is yosef : MOINRD MY : DTV
2 TYNIN DNTD NMINM

2 ghi?, "abc def" :vHP :2 NDIVT

abc def ghi : 09TV
[nwa P9 12 (N} 77 INNY MNND) MTNNNI 7N RPN PN 2D INTIM
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: C4+ N9V NINDN MINN TId

#include <iostream.h>
#include <string.h>
#include <ctype.h>

§define MAX 20

class string
{

protected:
char *str;
int len;

public:
string{) {len = 0; str = new char [MAX];}
string{char *s} {len = strlen(s}; str = new char[len+l]; strcpy(str,s);}
get length() {return len;}
assing{char *s) {strcpy(str,s); len = strlen(s):; return len;}
assing(string *s) {strcpy(str,s->str); len = strlen{s->str};return len;}
virtual str letter{int n) {if {n!=0} return O;

else return (str{n]=toupper{strinl)};}

print_string(} {cout << str << endl; return 0;}
~string{) {delete [l str:}

}:

class s_t r : public string
{
public:
s t r() :string(){}
s_t_r{char *s} :string(s}{}
str_letter(int n) {if (n>len) return 0;
else return (str[n] = toupper(str[n]));}

}i

H¥ YT MIN A¥DPPY PON TIY ADIND IPON TP TOHIR MN NY2PN toupper MIPNSN DIPNND
A NN toupper (a) NOMYT? .MIN NIIN
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int main{()

{

char a,b;

char *ptr;

string s{"hello!"),t;
s t r u("world"),w;
string *arl[2]:;

t.assing(&s}):
w.assing(&u);

ar[0]l=&s;ar[l]=8&u;
for (int j§=0;3<2;j++)
for (int i=0;i<ar[jl->get_length(};i++)
ar{jl->str_letter{i};

t.print string();
w.print_string{):
cout << endl;
s.print_string{);
u.print string();
cout << endl;

return 0Q;
}

972NN Pn Y AN 53D assing DY OMYNYA string DY NRNPMD MW NI string Aponna Py 4) .
JPUNIN MIDINNND 1NN NNN DD DN T 1»a

'S T _R NPYNDI NYNID MDY string NPYNDI str_ letter MAPNON NYIID DD (D) 4)
NI DOV DTN DD TN YN Hn ('P) 8)

! destructor MIPNIY string NPINKIAI WD ('P) 2)
1S T RNPINNI DY NI PSPND TN ¥ DXD

NYAN X 2N PROTECTED NPNN DWPNI STRING NPINHN MDA DX MPY o ('P) 2)
IPRIVATE

.
»
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: C++ NOVA NAININ DN TId

#include <iostream.h>
#include <string.h>

class frac_type
{
private:
int *n;
int *m;
public:
frac type{int in,int im} {n=new int;m = new int;
n=in; *m=1im; }
print_frac() {cout << *n << w/ << *m << endl;
return 0;}
friend class dec_frac type;
t:

class dec_frac_type

{

private:
frac type nm;
double decfrac;

public:
dec frac_type{int in,int im) :nmi{in, im)

{decfrac={({float) (*nm.n} )}/ {(float) (*nm.m)));}

print_dec frac() {cout << decfrac << endl; return 0;}
print frac() {nm.print_frac();return 0;}

Vi

int main()

{

dec_frac type numl(5,8),num2{4,5):
numl.print_frac();

numl.print dec_frac();
num?2.print_frac(};

num2.print dec_frac():

return 0;

friend class dec_frac_type; MMA TNS WV WIN 20N {(P) 5) N
.frac_type NPONHN MTAN2

ATPDNN NYSan ApNaon Py 8) A

MM OVOI MNP 7) a2
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.YHDL -3 p5n

LIMINAN MYNUN 4 2 9% nyy

LMY 20) 7 hvnw
: VHDL -2 1p 0p N

library ieee;
use iece.std_logic_1164.all;

-- one-bit adder slice

entity full adder is
port (a, b, cin: in std_logic;
sum, carry: out std_logic);
end full_adder;

architecture structure of full_adder is
begin

sum <= a xor b xor cin;

carry <= (a and b) or (cin and (a or b));
end structure;

NN 720 OV (full adder) NoD BI0D WonD MY TP YOP

cin N0 + V11 4 S¥ OYNOPI MY 73PHN DION 1Y NP0 4 I XID DIOD WY von 'P) 10) .N
JIOMIN KY) + N1U7)D2 DYNOPIN DIV DNV (cout) XY + N0 4 D¢ NNID NOPY 2UNm) (DD N}
AVINN IMVPYIINA componenet-I ¥ full_adder-n IITIN Y IIMND IN wond Ty

TONN MYNNRA NOR YNV full_adder 395712 vdw K5 NP0 4 2nM3 XD DYOD ¥on '3 15) .3
-DMIRNDN DWONT DWSIAN 13 NTNOPVIIINA VTN (process)
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library icee;
use ieee.std_logic_1164.all;

entity MEALY is
port(X, CLOCK: in std_logic;
Z: out std_logic);
end;

architecture BEHAVIOR of MEALY is

type state_type is (s0, sl, s2, s3);

signal CURRENT_STATE, NEXT_STATE: state_type;
begin

— Process to hold combinational logic
combin: process (CURRENT_STATE, X)
begin
case CURRENT_STATE is
when s0 =>
if X =0’ then
Z<="0"
NEXT_STATE <=s0;
else
Z<="1
NEXT_STATE <=s2;
end if;
when sl =>
if X ="0"then
Z<="0,;
NEXT_STATE <= s0;
else
Z<="1"
NEXT_STATE <=s2;
end if;
when s2 =>
if X ="0¢ then
Z<="1"
NEXT_STATE <=s2;
else
Z<="0
NEXT_STATE <=5s3;
end if;
when 53 =>
if X ="0" then
Z<="0;
NEXT_STATE <=s3;
else
Z<="1",
NEXT_STATE <=sl;
end if}
end case;
end process;
-- Process to hold synchronous elements (flip-flops)
SYTIC: PrOCESS
begin
wait until CLOCK 'event and CLOCK ="1";
CURRENT _STATE <= NEXT_STATE;
end process;
end BEHAVIOR;

LI TYPy 20) 8 nNY

: VHDL Rnov3 2330 TP YOp 11
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MEALY 20D 0230 MIDn INNn Yopn
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: VHDL Nawa 213N90 Nan Npn yop N

LIBRARY ieee;
USE iece.std_logic_1164.ALL;
USE ieee.std logic_arith.ALL;

ENTITY comp IS
GENERIC( WIDTH_IN : INTEGER := 4; SIZE_OUT : INTEGER :=8);
PORTY(
d_in :IN STD_LOGIC_VECTOR(WIDTH_IN-1 DOWNTO 0);,
d_out : OUT STD_LOGIC_VECTOR(SIZE_QUT-1 DOWNTO 0) );
END comp;

ARCHITECTURE behavior OF comp IS

BEGIN
PROCESS(d_in)
VARIABLE zero: BOOLEAN,;
BEGIN
IF (d_in(WIDTH_IN-1) ='0’) THEN
zero ;= frue;
ELSE
zero = false;
END IF;

FOR j IN WIDTH_IN TO (size_out-1) LOOP
IF (zero) THEN
d out(j) <='0’;
ELSE
d_out(j) <="I’;
ENDIF;
END LOOP;

d_out{ WIDTH_IN-1 DOWNTO 0) <= d_in(WIDTH_IN-1 DOWNTO 0);
END PROCESS;
END behavior;
YN PN YOP ¥R B P 10) N

10101’ 71PN din YWRD 11100 MM din WNO d_out TP N0 {(P) §) .3

, (din } DMWY NP3 YNOPY MY 100nSEC 72 PYT12 930 PN Yop npr137 TEST BENCHIWD (P110) 2
din-1 93P MY NPNIVAND 23 by 1y

-11-
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LIBRARY icee;
USE ieee.std_logic_1164.ALL;

ENTITY bidir IS
PORT(
bidir : INOUT STD_LOGIC_VECTOR (7 DOWNTO 0);
oe, clk : IN STD_L.OGIC;
inp :INSTD_LOGIC_VECTOR (7 DOWNTO 0};
outp :OUT STD LOGIC_VECTOR (7 DOWNTO 0});
END bidir;

ARCHITECTURE maxpld OF bidir IS
SIGNAL a : STD_LOGIC VECTOR (7 DOWNTO 0);
SIGNAL b :STD_LOGIC_VECTOR (7 DOWNTQ 0);
BEGIN
PROCESS({clk)
BEGIN
IF clk ='1' AND clk'EVENT THEN
a <=inp;
outp <= b;
END IF;
END PROCESS;
PROCESS (oe, bidir)
BEGIN
IF{ oe ='0") THEN
bidir <= "ZZZZ7777";
b <= bidir;
ELSE
bidir <=a;
b <= bidir;
END IF;
END PROCESS;
END maxpld;

LM 20) 10 nHXY

: VHDL-1 2190 TP yOp pm

TNN VI3 Y TIPN YO I¥MNY NPPNIN IN IS 0% 8 33 BUS Y T3 90 Nipn yop (P 15) .N
.inp(0), outp(0) ,bidir(0) ,0e ,clk ,a(0) ,b(0) : MMNN MY MY T2

NVXPNAN 73 T NPT XN v SMHZ YT clk NN .5V 1PN YOP NPr1aY test bench 130D (P 10) .2
.inp NP M NN bidir MOPI N ,0e Y281 D33 .20 ININHDN VNN YV

'nn%x¥na
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